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M(tt) e, ATy [T M(tt) o d\y(thc)l|gM(tf)
[GeV] [GeV—2] [GeV] [GeV2]
0 < pr(ty,) <90GeV
300-360 (108 + 0.01 +0.11)x10™°  580-680  (3.55+ 0.04 4 0.17) x10~
360430  (2.090 «+ 0.012 + 0.050) X105 680-800  (1.675 + 0.028 + 0.086) x 10~
430-500 (1165 + 0.010 4 0.032) x10~> 8001000  (6.21 + 0.16 + 0.45) x10~7
500-580 (658 & 0.06 +0.18) x10~®  1000-2000 (6.1 + 03 =+ 1.0)x10~8
90 < pr(t,) < 180 GeV
300-360 (118 + 0.03 +0.12) x10®  580-680  (6.61 + 0.06 + 0.18) x10~
360-430 (1.111 £ 0.010 4 0.031) x107° 680-800 (3.32 + 0.04 +0.17) x 10~
430-500 (1.753 £ 0.012 4 0.049) x 107> 800-1000 (1.313 £ 0.023 + 0.067) x10~°
500-580 (1.221 £ 0.009 £ 0.031) x 10~>  1000-2000 (1.27 + 0.05 4+ 0.15) x10~7
180 < pr(ty,) < 270 GeV
300430  (2.85+ 0.13 £ 0.63) X107  680-800  (2.622 + 0.037 + 0.097) x 106
430-500 (1.81 + 0.04 £+ 0.10) x107° 800-1000 (1.102 £+ 0.021 + 0.061) x10~°
500-580 (4.77 + 0.06 £+ 0.16) x107° 1000-1200 (3.82 + 0.14 4+ 0.34) x10~7
580-680 (4.69 =+ 0.05 +0.17) x107° 1200-2000 (5.56 &+ 0.35 +0.83) x10~8
270 < pr(t,) < 800GeV
300-430 62+ 07 +£20)x107°  680-800  (2.492 + 0.046 + 0.093) x 107
430-500 (4.15 + 0.24 4+ 0.68) x10~8 800-1000  (1.850 + 0.030 + 0.083) x10~7
500-580 7.6+ 03 +12)x10°%  1000-1200  (8.82 + 0.25 =+ 0.49) x10~8
580-680 (1.530 £ 0.040 + 0.092) x 10=7  1200-2000 (2.09 + 0.06 +0.14) x 10-8



